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Math JOUrna

PrObIEM:

Rl The QnIMaS af the ZOO \Qere WAIgheD. \Whith 2 GNIMAS have d
DifFerence in \weidht that iS dreater than 2.000 POUNDS?
GIFarre: 2.685 IbS. POIOr Bed™ 620 IbS.

BISON: 1600 IbS. LON: 210 1bS.

HPPO: 3125 1bS. Z76br¢ 565 1bS.

ShOW I

EXPIAIN I

EXPIGIN WhY YOUr anSwer i COITect.
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Proviem:

Ticket Sales for baceba] games are highest on Saturday night:
Which 2 combined teams ol wore Hhan wo,000 fickets?

NY Yangeec. 42,483 fickets
Chicacp Whitke Soges: 21221 tokets
ore ﬁﬂg@% 30,008 tickets
sl Prates 2370 Hogede

Explatin it}

ExF(a\in why YOur answer ic corvect:




